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QUESTION 1

Which two are ways the Oracle Internet of Things (IoT) Cloud Service environment can be accessed? 

A. using SOAP Interface 

B. using REST Interface 

C. Using a desktop client 

D. using Web Browser 

Correct Answer: BD 

 

QUESTION 2

What are two possible reasons for a Gateway not getting started? 

A. The IoT Service may be down. 

B. The provisioning file may contain correct Activation ID and Activation Secret. 

C. There is an invalid certificate. 

D. The provisioning file may contain incorrect Activation ID and incorrect Activation Secret. 

Correct Answer: AD 

 

QUESTION 3

Which is NOT a key advantage of using Oracle Integration Cloud (OIC)? 

A. Public/Private Cloud Portability 

B. choice of IDE for development 

C. Auto Association of Oracle SaaS Applications 

D. prebuilt integrations 

E. recommendations 

Correct Answer: B 

Reference: http://www.oracle.com/us/solutions/cloud/cloud-integration-wp-1873149.pdf 

 

QUESTION 4

Which four statements are correct regarding the differences between WSDL/SOAP and REST/JSON? 
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A. REST is typically invoked with HTTP verbs. 

B. WSLD is simpler; REST is richer. 

C. Modern API-First architectures prefer to use tried-and-true WSDL/SOAP services over REST services because they
are richer and provide a tighter contract. 

D. WSDL is a request for a service; REST is a request for a resource. 

E. WSDL is a tight contract; REST is a loose contract 

F. REST more easily used in developing Uls than WSDL/SOAP. REST is gaining popularity in application development. 

Correct Answer: BCDF 

 

QUESTION 5

What is the "Decision Table" in Business Rules in Process Cloud Service? 

A. a range value set in a spreadsheet-like format that defines a list of allowed value ranges for the input and output data
objects of a decision 

B. a decision matrix that organizes if/then rules into a spreadsheet-like format, where rows represent conditions and
actions, and columns match condition values to action alternatives 

C. an if/then rule that has one or more conditions (if statements) that together are true or false, and one or more actions
(then statements) that are applied if the conditions are true 

D. a values set in a spreadsheet-like format that defines a list of allowed values for the input and output data objects of a
decision 

Correct Answer: C 

Reference: https://docs.oracle.com/en/cloud/paas/process-cloud/user/creating-if-then-rule-businessrules.html 
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